Dé khio sat chit lwgng diu ndm mén Tiéng Anh lop 7 (1)

I — Select the best options: (10 x 0,25 = 2,5 mk)

| B, [T USSR — television every night.

A. watch B. watchs C. watches D. watching
2.T'llhaveaparty................. my birthday.

A. for B.in C.on D. of
3. sevsrennse you like a cup of coffee? - Yes, pleasec.

A. Will B. What C. Which D. Would
4. Thursday is................. day of the week.

A. the five B. fifth C. the fifth D. the fiveth

5. Will she be free this afternoon? - ......oovvveennn.

A. No, she won’t B. No, she doesn’t C. No, she isn’t D. No, she
hasn’t
6. We’ll meet in front................. the cinema.
A.in B.on C.of D.to
7. They feel very unhappy................. they doesn’t have any friends in this new town.
A. and B. but C. because D. so
8 are you going to hold the party? - In our garden.
A. Who B. Which C. What D. Where
9. HoW it is it from your house to school? - About 2 km.
A. far B. long C.old D. much
10. Wewill......ooooeeee. our friends next Saturday.
A. meeting B. meets C. meet D. to meet

II. Change these sentences into the negative and interrogative forms: (5 x 0,5 =25

mk)
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1. Lan goes to school six days a week.

I1I. Fill in each numbered blank with one suitable word: (10 < 0,25=2,5 mk)
35 Newton Drive
London SWé6
5™ October
Dear Jane,

(Dicnesnanadiel You? Tm G6e i o Eotdoll, (2)awamsssunaeel the
International School of English. I'm in (3)......................7A with eleven other students.
They (4).....................all from different countries — France, Argentina, Thailand, Spain
and Japan. Our teacher’s (5)..................... is John Smith. He is very nice. He’s funny

and he’s a very good (6)..............

uaLIVEWORKSHEETS



My new (7)........ccceceeenen... is at the top of the letter. T (8)....cveeeeennnn.n. with an
English family, the Browns. Mr. and Mrs. Brown (9).....................three children.
Thomas is fifteen, Andrew is thirteen and Catherine is nine. They're

(10)......cccceeeven.... o friendly, but it isn’t easy to understand them!
Write to me soon.
Love,
Dane

IV. Write the questions for these answers: (5 x 0,5=2,5 mk)

-> 1 go to school on foot.
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